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purchase price for a
sofa which requires
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Ifa=3andb=4
calculate :-

4a + 5b

12 854 eggs are
packed into boxes
which will each
hold 16 eggs.
How many boxes

are needed to
hold all the eggs? Sl
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Calculate the area of
this trapezium.
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Share 54 in
the ratio
of 4:5

24 The weather forecast
predicts a 33 in 45
chance of rain in Scotland.
It also predicts a 47 in 65
chance of rain in England.
Is it more likely to rain in
Scotland or England? You
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29 The mean weight
of three cows is
720 kilograms. Two
of the cows weigh
500 and 880 kg.
What is the weight
of the third cow?
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